
©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-0.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

PARTIAL ROOF
TRUSS PLAN

3
3

3

1

1
1

2

2

HIP ROOF 7-27 DEG. 2

5 4 5

a

a
a

a

a

3
3

3

1
1

2

2
a

a
a

a

COMPONENTS & CLADDING ZONES - PLAN VIEW & WALL ELEVATION

ELEVATION

CANOPY ROOF PLAN

WIND DESIGN    ASCE 7 -16
Risk Category    II
Directionality (Kd)   0.85
Mean Roof Ht (h)   14.5
Parapet ht above grd  0
Exposure Category   C
Enclosure Classif.   Enclosed Building
Internal pressure   0.18

a =  3.0 ft
Minimum parapet height at building perimeter =    0.00 ft

Roof Angle  26.6 deg

Type of roof  Hip

COMPONENTS & CLADDING

ULTIMATE LOADS:

Roof
Area
Negative Zone 1
Negative Zone 2
Negative Zone 3
Positive All Zones
Overhang Zone 2
Overhang Zone 3

Walls
Area
Negative Zone 4
Negative Zone 5
Positive Zone 4 & 5

Parapets
Area
Positive Interior (Zone 4)
Positive Corner (Zone 5)
Negative Interior (Zone 4)
Negative Corner (Zone 5)

SERVICE LOADS:

Roof
Area
Negative Zone 1
Negative Zone 2
Negative Zone 3
Positive All Zones
Overhang Zone 2
Overhang Zone 3

Walls
Area
Negative Zone 4
Negative Zone 5
Positive Zone 4 & 5

Parapets
Area
Positive Interior (Zone 4)
Positive Corner (Zone 5)
Negative Interior (Zone 4)
Negative Corner (Zone 5)

Note: Pressures listed above are in both values, Ultimate (LRFD) & Service or Nominal (ASD) which have
been obtained by multiplying Ultimate values by 0.6. Use service values (ASD) for Wind Resistance
Testing Compliance per FBC 1609.1.5

Basic Wind speed 107.7 mph (ASD)
Base pressure (qh) = 21.4 psf (ASD)

(ASD)Surface Pressure (psf) -ASD Values
10 sf 20 sf 50 sf 100 sf 200 sf

-23.1 psf -22.5 psf -21.6 psf -21.0 psf
-40.3 psf -37.0 psf -32.8 psf -29.6 psf
-59.5 psf -55.7 psf -50.5 psf -46.7 psf
14.6 psf 13.3 psf 11.6 psf 10.3 psf
-47.1 psf -47.1 psf -47.1 psf -47.1 psf
-79.2 psf -71.5 psf -61.3 psf -53.5 psf

-21.0 psf
-29.6 psf
-46.7 psf
10.3 psf
-47.1 psf
-53.5 psf

10 sf 20 sf 50 sf 100 sf 500 sf
-27.4 psf -26.3 psf -24.8 psf -21.0 psf
-33.8 psf -31.6 psf -28.5 psf -21.0 psf
25.3 psf 24.1 psf 22.6 psf 18.8 psf

-23.6 psf
-26.3 psf
21.5 psf

(ASD)Surface Pressure (psf) -ASD Values

10 sf 50 sf 100 sf 500 sf
0.0 psf  0.0 psf 0.0 psf0.0 psf

(ASD)Surface Pressure (psf) -ASD Values

0.0 psf  0.0 psf 0.0 psf0.0 psf
0.0 psf  0.0 psf 0.0 psf0.0 psf
0.0 psf  0.0 psf 0.0 psf0.0 psf

Basic Wind speed 139.0 mph (LRFD)
Base pressure (qh) = 35.7 psf (LRFD)

Surface Pressure (psf) - LRFD Values
10 sf 20 sf 50 sf 100 sf 200 sf

-38.5 psf -37.5 psf -36.0 psf -35.0 psf
-65.1 psf -61.7 psf -54.6 psf -49.3 psf
-99.2 psf -92.8 psf -84.2 psf -77.8 psf
24.3 psf 22.1 psf 19.3 psf 17.1 psf
-78.5 psf -78.5 psf -78.5 psf -78.5 psf
-132.1 psf -119.2 psf -102.1 psf -89.2 psf

-35.0 psf
-49.3 psf
-77.8 psf
17.1 psf
-78.5 psf
-89.2 psf

10 sf 20 sf 50 sf 100 sf 500 sf
-45.7 psf -43.8 psf -41.3 psf -35.0 psf
-56.4 psf -52.6 psf -47.6 psf -35.0 psf
42.1 psf 40.2 psf 37.7 psf 31.4 psf

-39.4 psf
-43.8 psf
35.8 psf

Surface Pressure (psf) -LRFD Values

10 sf 50 sf 100 sf 500 sf
0.0 psf  0.0 psf 0.0 psf0.0 psf

Surface Pressure (psf) - LRFD Values

0.0 psf  0.0 psf 0.0 psf0.0 psf
0.0 psf  0.0 psf 0.0 psf0.0 psf
0.0 psf  0.0 psf 0.0 psf0.0 psf

COMPONENTS & CLADDING PRESSURES - CANOPY



NEW COLUMN

2'-0"
TYP. SPACING

EXISTING BUILDING

NEW COLUMN NEW COLUMN

2'-0"
TYP. SPACING

2'
-0

"
TY

P.
 S

PA
CI

NG

EXISTING COLUMN

EXISTING COLUMN

TR
US

S 
#7

TRUSS #20

TRUSS #19TR
US

S 
#1

8

TRUSS #21

TRUSS #22

TRUSS #23

TRUSS #24

HIP1.0
HIP1.0

TRUSS #1

TRUSS #2

TRUSS #3

TRUSS #4

TRUSS #5

TRUSS #6

TRUSS #25

NEW ∠7"x4"x3/8" ANGLE TO SPAN
FROM STEEL COL. TO STEEL COL. TO
SUPPORT LOADS FROM  HIP TRUSSES

SD-14.0
4

NEW ∠7"x4"3/8"

3/16"
TYP.

6" 18 ga FLATSTOCK TO CONNECT
BOTTOM CHORDS OF TRUSSES

6" 18 ga FLATSTOCK TO CONNECT
BOTTOM CHORDS OF TRUSSES

6" 18 ga FLATSTOCK TO CONNECT
BOTTOM CHORDS OF TRUSSES

6" 18 ga FLATSTOCK TO USE AS
DIAGONAL BRACING

TR
US

S 
#8

TR
US

S 
#1

7

TR
US

S 
#9

TR
US

S 
#1

6

TR
US

S 
#1

0

TR
US

S 
#1

5

TR
US

S 
#1

1

TR
US

S 
#1

4

TR
US

S 
#1

2

TR
US

S 
#1

3

6" 18 ga FLATSTOCK TO USE AS
DIAGONAL BRACING

150F125-33 B/CHORD LATERAL
BRACING (CB1) @ 8'-0"

150F125-33 B/CHORD LATERAL
BRACING (CB1) @ 8'-0"

250S162-33 B/CHORD DIAGONAL
BRACING (DB1) @ 20'-0"

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-0.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

PARTIAL ROOF
TRUSS PLAN

PARTIAL ROOF TRUSS PLAN
SCALE: 1/2" = 1'-0"

1

TYPE & SIZE

∠7"x4"x3/8" 7350

3

5500

4

4400

5

3670

6

3140

7

2750

8

ALLOWABLE CONCRETRATED LOAD
(lbs) AT CENTER OF SPAN (ft.)

TRUSS TEMPORARY & PERMANENT BRACING GUIDELINES

TRUSS TEMPORARY & PERMANENT BRACING GUIDELINES



59 1/4"60 1/4"

5"

3'
-1

1 
1/

2"

125 1/2"

6 
1/

4"

28
 1

/2
"

#1 #1

#2

#2

#3

#4#5

#6
#7

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-1.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 1, 12, 13, 24
& 25

TRUSS 1, 12, 13, 24 & 25
SCALE: 1-1/2" = 1'-0"

1

CONNECTION

#1

SECTION

358CSJ18

LENGTH

10.46

AXIAL

3.15C

INT.

1.00

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 358CSJ18 11.42 1.49C 0.70 #10 SD 0.000 0
#3 358CSJ18 3.83 0.80T 0.91 #10 SD 0.534 8
#4 358CSJ18 4.66 0.05T 0.03 #10 SD 0.177 8
#5 358CSJ18 2.33 0.64C 0.32 #10 SD 0.177 8
#6 358CSJ18 4.33 0.70C 0.29 #10 SD 0.177 8
#7 6CSJ18 0.53 1.33T 0.85 #10 SD 0.177 8

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

1.08

UPLIFT/SHR FASTENER

#10 SD

PA

0.522

REQ.

8
STEEL STUD SEE NOTES 1.08 #10 SD 0.522 8
TRUSS CHORD SEE NOTES 2 1.79 #10 SD 0.522 8
TRUSS GIRDER SEE NOTES 1.79 #10 SD 0.522 8

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.

MAXIMUM DEFLECTIONS
VERTICAL 0.137 in (L/1284)
HORIZONTAL 0.025 in
TOP OVERHANG 0.019 in (L/625)
VERTICAL 0.040 in (L/4398) [DEAD LOAD ONLY]
VERTICAL 0.062 in (L/2837) [LIVE LOAD ONLY]

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.71 {0.71} -1.08 [-2.09] 0.02 8.49
RIGHT 1.26 {1.26} -1.79 [-3.47] 0.00 2.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 5 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 8.264 in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-358CSJ18
TOP CHORD 1-358CSJ18
WEB 1-358CSJ18

ACTUAL

Po

3.15C
1.49T
0.04T

Vo

0.07
2.10
0.00

Mo

1.50
4.49
3.89

ALLOWABLE

Pa

3.45
12.63
16.65

Va

4.40
3.37
2.83

Ma

17.66
14.01
27.75

RATIO

1.00
0.70
0.91

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#1 #1

#2

#2

#3

#4#5

#6
#7

TRUSS #2

1

6

2 3

4

5

9

7
8

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-1.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 1, 12, 13, 24 &
25 CONNECTIONS

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1

TRUSS CONNECTION 6
6

TRUSS CONNECTION 2
SCALE: 6" = 1'-0"

2
TRUSS CONNECTION 3

SCALE: 6" = 1'-0"
3

TRUSS CONNECTION 4
SCALE: 6" = 1'-0"

4
TRUSS CONNECTION 5

SCALE: 6" = 1'-0"
5

TRUSS CONNECTION 7
SCALE: 6" = 1'-0"

7
TRUSS CONNECTION 8

SCALE: 6" = 1'-0"
8

TRUSS CONNECTION 8
SCALE: 6" = 1'-0"

9

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"

SCALE: 6" = 1'-0"



59 1/4"60 1/4"

5"

3'
-1

1 
1/

2"

125 1/2"

6 
1/

4"

28
 1

/2
"

(3) HEX HEAD GRABBERS
#10x3/4"

#1 #1

#2

#2

#3

#4#5

#6#7

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-2.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 2 & 11

TRUSS 2 & 11
SCALE: 1-1/2" = 1'-0"

1

CONNECTION

#1

SECTION

212CSJ18

LENGTH

10.46

AXIAL

3.15C

INT.

1.00

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 212CSJ18 11.42 1.49C 0.70 #10 SD 0.000 0
#3 358CSJ18 3.83 0.80T 0.91 #10 SD 0.534 8
#4 212CSJ18 4.66 0.05T 0.03 #10 SD 0.177 8
#5 358CSJ18 2.33 0.64C 0.32 #10 SD 0.177 8
#6 358CSJ18 4.33 0.70C 0.29 #10 SD 0.177 8
#7 6CSJ18 0.53 1.33T 0.85 #10 SD 0.177 8

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

1.08

UPLIFT/SHR FASTENER

#10 SD

PA

0.522

REQ.

8
STEEL STUD SEE NOTES 1.08 #10 SD 0.522 8
TRUSS CHORD SEE NOTES 2 1.79 #10 SD 0.522 8
TRUSS GIRDER SEE NOTES 1.79 #10 SD 0.522 8

MAXIMUM DEFLECTIONS
VERTICAL 0.137 in (L/1284)
HORIZONTAL 0.025 in
TOP OVERHANG 0.019 in (L/625)
VERTICAL 0.040 in (L/4398) [DEAD LOAD ONLY]
VERTICAL 0.062 in (L/2837) [LIVE LOAD ONLY]

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.71 {0.71} -1.08 [-2.09] 0.02 8.49
RIGHT 1.26 {1.26} -1.79 [-3.47] 0.00 2.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 2 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 8.264 in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-212CSJ18
TOP CHORD 1-212CSJ18
WEB 1-358CSJ18

ACTUAL

Po

3.15C
1.49T
0.04T

Vo

0.07
2.10
0.00

Mo

1.50
4.49
3.89

ALLOWABLE

Pa

3.45
12.63
16.65

Va

4.40
3.37
2.83

Ma

17.66
14.01
27.75

RATIO

1.00
0.70
0.91

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#1 #1

#2

#2

#3

#4#5

#6
#7

TRUSS #2

1

6

2 3

4

5

9

7
8

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-2.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 2 & 11
CONNECTIONS

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1

TRUSS CONNECTION 6
6

TRUSS CONNECTION 2
SCALE: 6" = 1'-0"

2
TRUSS CONNECTION 3

SCALE: 6" = 1'-0"
3

TRUSS CONNECTION 4
SCALE: 6" = 1'-0"

4
TRUSS CONNECTION 5

SCALE: 6" = 1'-0"
5

TRUSS CONNECTION 7
SCALE: 6" = 1'-0"

7
TRUSS CONNECTION 8

SCALE: 6" = 1'-0"
8

TRUSS CONNECTION 8
SCALE: 6" = 1'-0"

9

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"

SCALE: 6" = 1'-0"



#1

#2

2'
-1

0 
1/

4"

#3

#4

6'-8 1/4"

6 
1/

4" #5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-3.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 3 & 10

TRUSS 3 & 10
SCALE: 1-1/2" = 1'-0"

1

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

0.86

UPLIFT/SHR FASTENER

#10 SD

PA

0.522

REQ.

8
STEEL STUD SEE NOTES 1.03 #10 SD 0.522 8
TRUSS CHORD SEE NOTES 2 1.83 #10 SD 0.522 8
TRUSS GIRDER SEE NOTES 1.83 #10 SD 0.522 8

MAXIMUM DEFLECTIONS
VERTICAL 0.142 in (L/1284)
HORIZONTAL 0.031 in
TOP OVERHANG 0.021 in (L/625)
VERTICAL 0.042 in (L/4398) [DEAD LOAD ONLY]
VERTICAL 0.067 in (L/2837) [LIVE LOAD ONLY]

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.73 {0.73} -1.03 [-2.02] 0.04 9.53
RIGHT 1.32 {1.32} -1.83 [-3.64] 0.00 2.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 2 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 9.523 in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-212CSJ18
TOP CHORD 1-212CSJ18
WEB 1-358CSJ18

ACTUAL

Po

2.87C
1.25T
0.04T

Vo

0.09
1.90
0.00

Mo

1.63
4.35
3.67

ALLOWABLE

Pa

3.45
12.45
16.57

Va

4.48
3.21
2.69

Ma

16.39
13.97
28.01

RATIO

1.00
0.70
0.91

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)

CONNECTION

#1

SECTION

212CSJ18

LENGTH

10.46

AXIAL

2.87C

INT.

0.93

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 212CSJ18 11.42 1.25C 0.76 #10 SD 0.000 0
#3 358CSJ18 3.83 0.60T 0.93 #10 SD 0.534 8
#4 212CSJ18 4.66 0.03T 0.03 #10 SD 0.177 8
#5 6CSJ18 0.53 1.39T 0.79 #10 SD 0.177 8

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#1

#2

#3

#4

#5

1

4

2 3

5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-3.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 3 & 10
CONNECTIONS

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1

TRUSS CONNECTION 4
4

TRUSS CONNECTION 2
SCALE: 6" = 1'-0"

2
TRUSS CONNECTION 3

SCALE: 6" = 1'-0"
3

TRUSS CONNECTION 5
SCALE: 6" = 1'-0"

5

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"

SCALE: 6" = 1'-0"



2'
-0

 1
/2

"

1'
-1

0 
1/

2"

4'-8 1/4"

#3

#1

#2

#4

#5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-4.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 4 & 9

TRUSS 4 & 9
SCALE: 1-1/2" = 1'-0"

1

MAXIMUM DEFLECTIONS
VERTICAL 0.043 in (L/2090)
HORIZONTAL 0.005 in
TOP OVERHANG 0.026 in (L/500)
VERTICAL 0.022 in (L/3544) [DEAD LOAD ONLY]
VERTICAL 0.017 in (L/4795) [LIVE LOAD ONLY]

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.36 {0.33} -0.33 [-0.73] 0.32 6.00
RIGHT 0.26 {0.26} -0.37 [-0.79] 0.00 2.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 2 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 6.000 in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-212CSJ18
TOP CHORD 1-212CSJ18
WEB 1-358CSJ18

ACTUAL

Po

0.62C
0.47T
0.57T

Vo

0.11
0.13
0.00

Mo

2.78
1.57
0.13

ALLOWABLE

Pa

2.68
5.91
4.63

Va

1.38
1.38
2.83

Ma

4.81
4.71
3.72

RATIO

0.89
0.46
0.04

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)

CONNECTION

#1

SECTION

212CSJ18

LENGTH

6.44

AXIAL

0.62C

INT.

0.82

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 212CSJ18 7.83 0.47C 0.37 #10 SD 0.000 0
#3 358CSJ18 2.58 0.33T 0.05 #10 SD 0.347 8
#4 212CSJ18 4.75 0.57T 0.34 #10 SD 0.177 8
#5 6CSJ18 0.67 0.10C 0.03 #10 SD 0.177 8

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

0.33

UPLIFT/SHR FASTENER

#10 SD

PA

0.263

REQ.

8
STEEL STUD SEE NOTES 0.33 #10 SD 0.263 8
TRUSS CHORD SEE NOTES 1 0.39 #10 SD 0.263 8
HIP RAFTER SEE NOTES 0.39 #10 SD 0.263 8

CHORD WALL SEE NOTES 0.33 #10 SD 0.263 8

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#1

#2

#3

#4

#5

1

4

2 3

5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-4.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 4 & 9
CONNECTIONS

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1

TRUSS CONNECTION 4
4

TRUSS CONNECTION 2
SCALE: 6" = 1'-0"

2
TRUSS CONNECTION 3

SCALE: 6" = 1'-0"
3

TRUSS CONNECTION 5
SCALE: 6" = 1'-0"

5

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"

SCALE: 6" = 1'-0"



1'
-4

 3
/4

"

1'
-2

 3
/4

"

2'-8 1/4"

#3

#1

#2

#4
#5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-5.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 5 & 8

TRUSS 5 & 8
SCALE: 1-1/2" = 1'-0"

1

MAXIMUM DEFLECTIONS
VERTICAL 0.043 in (L/2090)
HORIZONTAL 0.005 in
TOP OVERHANG 0.026 in (L/500)
VERTICAL 0.022 in (L/3544) [DEAD LOAD ONLY]
VERTICAL 0.017 in (L/4795) [LIVE LOAD ONLY]

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.36 {0.33} -0.33 [-0.73] 0.32 6.00
RIGHT 0.26 {0.26} -0.37 [-0.79] 0.00 2.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 2 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 6.000 in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-212CSJ18
TOP CHORD 1-212CSJ18
WEB 1-358CSJ18

ACTUAL

Po

0.62C
0.47T
0.57T

Vo

0.11
0.13
0.00

Mo

2.78
1.57
0.13

ALLOWABLE

Pa

2.68
5.91
4.63

Va

1.38
1.38
2.83

Ma

4.81
4.71
3.72

RATIO

0.89
0.46
0.04

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)

CONNECTION

#1

SECTION

212CSJ18

LENGTH

6.44

AXIAL

0.62C

INT.

0.82

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 212CSJ18 7.83 0.47C 0.37 #10 SD 0.000 0
#3 358CSJ18 2.58 0.33T 0.05 #10 SD 0.347 8
#4 212CSJ18 4.75 0.57T 0.34 #10 SD 0.177 8
#5 6CSJ18 0.67 0.10C 0.03 #10 SD 0.177 8

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

0.33

UPLIFT/SHR FASTENER

#10 SD

PA

0.263

REQ.

8
STEEL STUD SEE NOTES 0.33 #10 SD 0.263 8
TRUSS CHORD SEE NOTES 1 0.39 #10 SD 0.263 8
HIP RAFTER SEE NOTES 0.39 #10 SD 0.263 8

CHORD WALL SEE NOTES 0.33 #10 SD 0.263 8

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#1

#2

#3

#4

#5

1

4

2 3

5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-5.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 5 & 8
CONNECTIONS

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1

TRUSS CONNECTION 4
4

TRUSS CONNECTION 2
SCALE: 6" = 1'-0"

2
TRUSS CONNECTION 3

SCALE: 6" = 1'-0"
3

TRUSS CONNECTION 5
SCALE: 6" = 1'-0"

5

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"

SCALE: 6" = 1'-0"



9"

7"

8 1/4"

#3
#1

#2

#4

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-6.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 6 & 7

TRUSS 6 & 7
SCALE: 1-1/2" = 1'-0"

1

MAXIMUM DEFLECTIONS
VERTICAL 0.043 in (L/2090)
HORIZONTAL 0.005 in
TOP OVERHANG 0.026 in (L/500)
VERTICAL 0.022 in (L/3544) [DEAD LOAD ONLY]
VERTICAL 0.017 in (L/4795) [LIVE LOAD ONLY]

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.36 {0.33} -0.33 [-0.73] 0.32 6.00
RIGHT 0.26 {0.26} -0.37 [-0.79] 0.00 2.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 2 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 6.000 in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-358CSJ18
TOP CHORD 1-358CSJ18
WEB 1-358CSJ18

ACTUAL

Po

0.62C
0.47T
0.57T

Vo

0.11
0.13
0.00

Mo

2.78
1.57
0.13

ALLOWABLE

Pa

2.68
5.91
4.63

Va

1.38
1.38
2.83

Ma

4.81
4.71
3.72

RATIO

0.89
0.46
0.04

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)

CONNECTION

#1

SECTION

358CSJ18

LENGTH

6.44

AXIAL

0.62C

INT.

0.82

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 358CSJ18 7.83 0.47C 0.37 #10 SD 0.000 0
#3 358CSJ18 2.58 0.33T 0.05 #10 SD 0.347 8
#4 6CSJ18 4.75 0.57T 0.34 #10 SD 0.177 8

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

0.33

UPLIFT/SHR FASTENER

#10 SD

PA

0.263

REQ.

8
STEEL STUD SEE NOTES 0.33 #10 SD 0.263 8
TRUSS CHORD SEE NOTES 1 0.39 #10 SD 0.263 8
HIP RAFTER SEE NOTES 0.39 #10 SD 0.263 8

CHORD WALL SEE NOTES 0.33 #10 SD 0.263 8

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#3
#1

#2

#3

1 2

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-6.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 6 & 7
CONNECTIONS

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1
TRUSS CONNECTION 2

SCALE: 6" = 1'-0"
2

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"



5"

5'
-2

 3
/8

"

6 
1/

4"

#1 #1

#2

#2

#3

#8

#10

14'-7 7/8"

#4

#7 #5

#1

#6

#2

#9

#1

1'-10 7/8" 4'-2" 4'-5" 4'-2"

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-7.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

HIP TRUSS

TYP. HIP TRUSS
SCALE: 1-1/2" = 1'-0"

1

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

0.86

UPLIFT/SHR FASTENER

#10 SD

PA

0.522

REQ.

8
STEEL STUD SEE NOTES 1.03 #10 SD 0.522 8
TRUSS CHORD SEE NOTES 2 1.83 #10 SD 0.522 8
TRUSS GIRDER SEE NOTES 1.83 #10 SD 0.522 8

MAXIMUM DEFLECTIONS
VERTICAL 0.142 in (L/1284)
HORIZONTAL 0.031 in
TOP OVERHANG 0.021 in (L/625)
VERTICAL 0.042 in (L/4398) [DEAD LOAD ONLY]
VERTICAL 0.067 in (L/2837) [LIVE LOAD ONLY]

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.73 {0.73} -1.03 [-2.02] 0.04 9.53
RIGHT 1.32 {1.32} -1.83 [-3.64] 0.00 2.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 2 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 9.523 in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-6CSJ18
TOP CHORD 1-358CSJ18
WEB 1-358CSJ18

ACTUAL

Po

2.87C
1.25T
0.04T

Vo

0.09
1.90
0.00

Mo

1.63
4.35
3.67

ALLOWABLE

Pa

3.45
12.45
16.57

Va

4.48
3.21
2.69

Ma

16.39
13.97
28.01

RATIO

1.00
0.70
0.91

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)

CONNECTION

#1

SECTION

6CSJ18

LENGTH

14.75

AXIAL

2.87C

INT.

0.93

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 358CSJ18 15.83 1.25C 0.76 #10 SD 0.000 0
#3 358CSJ18 5.21 0.60T 0.93 #10 SD 0.534 8
#4 358CSJ18 5.00 0.03T 0.03 #10 SD 0.177 8
#5 358CSJ18 3.92 0.54C 0.39 #10 SD 0.177 8
#6 358CSJ18 4.58 0.86C 0.22 #10 SD 0.177 8
#7 358CSJ18 2.42 1.39T 0.79 #10 SD 0.177 8

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.

#8 358CSJ18 3.75 0.86C 0.22 #10 SD 0.177 8
#9 358CSJ18 1.17 1.39T 0.79 #10 SD 0.177 8
#10 358CSJ18 0.50 1.39T 0.79 #10 SD 0.177 8



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#1 #1

#2

#2

#3

#4#5

#6
#7

TRUSS #2

1

6

2 3

4

5

9

7
8

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-7.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

HIP TRUSS
CONNECTIONS

CONNECTION

#1

SECTION

358CSJ18

LENGTH

10.46

AXIAL

3.15C

INT.

1.00

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 358CSJ18 11.42 1.49C 0.70 #10 SD 0.000 0
#3 358CSJ18 3.83 0.80T 0.91 #10 SD 0.534 5
#4 358CSJ18 4.66 0.05T 0.03 #10 SD 0.177 4
#5 358CSJ18 2.33 0.64C 0.32 #10 SD 0.177 4
#6 358CSJ18 4.33 0.70C 0.29 #10 SD 0.177 4
#7 358CSJ18 0.53 1.33T 0.85 #10 SD 0.177 8

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1

TRUSS CONNECTION 6
6

TRUSS CONNECTION 2
SCALE: 6" = 1'-0"

2
TRUSS CONNECTION 3

SCALE: 6" = 1'-0"
3

TRUSS CONNECTION 4
SCALE: 6" = 1'-0"

4
TRUSS CONNECTION 5

SCALE: 6" = 1'-0"
5

TRUSS CONNECTION 7
SCALE: 6" = 1'-0"

7
TRUSS CONNECTION 8

SCALE: 6" = 1'-0"
8

TRUSS CONNECTION 8
SCALE: 6" = 1'-0"

9

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"

SCALE: 6" = 1'-0"



3-5/8 18 GA. STL STUD

6" 18 GA. STL STUD WITH
TRACK OVER. SPLICE
PLATE OVER TRACK

#1

#2 3'
-6

 1
/4

"

TIE PLATE, SIMPSON STRONG-TIE
TP57, 6" SCREWS EA. SIDE

#3

#5

8'-8 1/4"

6 
1/

4"

#6

#4

#7

3'
-4

 1
/4

"

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-8.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 14 & 23

TRUSS 14 & 23
SCALE: 1-1/2" = 1'-0"

1

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

0.49

UPLIFT/SHR FASTENER

#10 SD

PA

0.263

REQ.

8
STEEL STUD SEE NOTES 0.46 #10 SD 0.263 8
TRUSS CHORD SEE NOTES 2 0.52 #10 SD 0.263 8
HIP GIRDER SEE NOTES 0.50 #10 SD 0.263 8

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.
6. SEE ENGINEERS REPORT FOR 'TRUSS TO SUPPORT' CONNECTION DESIGN.

MAXIMUM DEFLECTIONS
VERTICAL 0.047 in (L/2398)
HORIZONTAL 0.006 in
TOP OVERHANG 0.029 in (L/400)
VERTICAL 0.027 in (L/4587) [DEAD LOAD ONLY]
VERTICAL 0.022 in (L/5024) [LIVE LOAD ONLY]

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.47 {0.42} -0.49 [-0.87] 0.43 6.00
RIGHT 0.38 {0.38 -0.52 [-1.01] 0.00 2.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 2 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 6.00in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-6CSJ18
TOP CHORD 1-358CSJ18
WEB 1-358CSJ18

ACTUAL

Po

0.69C
0.52T
0.32T

Vo

0.12
0.27
0.00

Mo

4.17
2.49
0.21

ALLOWABLE

Pa

3.69
5.69
3.83

Va

1.74
1.28
0.91

Ma

6.01
4.56
3.90

RATIO

0.89
0.61
0.08

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)

CONNECTION

#1

SECTION

6CSJ18

LENGTH

8.69

AXIAL

0.69C

INT.

0.91

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 358CSJ18 9.50 0.52C 0.55 #10 SD 0.000 0
#3 358CSJ18 3.25 0.38T 0.09 #10 SD 0.347 8
#4 358CSJ18 4.13 0.59T 0.43 #10 SD 0.177 8
#5 358CSJ18 1.92 0.11T 0.05 #10 SD 0.177 8
#6 358CSJ18 2.59 0.77C 0.53 #10 SD 0.177 8
#7 6CSJ18 0.67 0.32T 0.17 #10 SD 0.177 8

CHORD WALL SEE NOTES 0.43 #10 SD 0.263 8



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#1 #1

#2

#2

#3

#4#5

#6
#7

TRUSS #2

1

6

2 3

4

5

9

7
8

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-8.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 14 & 23
CONNECTIONS

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1

TRUSS CONNECTION 6
6

TRUSS CONNECTION 2
SCALE: 6" = 1'-0"

2
TRUSS CONNECTION 3

SCALE: 6" = 1'-0"
3

TRUSS CONNECTION 4
SCALE: 6" = 1'-0"

4
TRUSS CONNECTION 5

SCALE: 6" = 1'-0"
5

TRUSS CONNECTION 7
SCALE: 6" = 1'-0"

7
TRUSS CONNECTION 8

SCALE: 6" = 1'-0"
8

TRUSS CONNECTION 8
SCALE: 6" = 1'-0"

9

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"

SCALE: 6" = 1'-0"



3-5/8 18 GA. STL STUD

6" 18 GA. STL STUD WITH
TRACK OVER. SPLICE
PLATE OVER TRACK

#1

#2

2'
-1

0 
1/

2"

TIE PLATE, SIMPSON STRONG-TIE
TP57, 6" SCREWS EA. SIDE

#3

#4

6'-8 1/4"

#5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-9.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 15 & 22

TRUSS 15 & 22
SCALE: 1-1/2" = 1'-0"

1

MAXIMUM DEFLECTIONS
VERTICAL 0.043 in (L/2090)
HORIZONTAL 0.005 in
TOP OVERHANG 0.026 in (L/500)
VERTICAL 0.022 in (L/3544) [DEAD LOAD ONLY]
VERTICAL 0.017 in (L/4795) [LIVE LOAD ONLY]

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.36 {0.33} -0.33 [-0.73] 0.32 6.00
RIGHT 0.26 {0.26} -0.37 [-0.79] 0.00 2.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 2 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 6.000 in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-6CSJ18
TOP CHORD 1-358CSJ18
WEB 1-358CSJ18

ACTUAL

Po

0.62C
0.47T
0.57T

Vo

0.11
0.13
0.00

Mo

2.78
1.57
0.13

ALLOWABLE

Pa

2.68
5.91
4.63

Va

1.38
1.38
2.83

Ma

4.81
4.71
3.72

RATIO

0.89
0.46
0.04

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)

CONNECTION

#1

SECTION

6CSJ18

LENGTH

6.44

AXIAL

0.62C

INT.

0.82

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 358CSJ18 7.83 0.47C 0.37 #10 SD 0.000 0
#3 358CSJ18 2.58 0.33T 0.05 #10 SD 0.347 8
#4 358CSJ18 4.75 0.57T 0.34 #10 SD 0.177 8
#5 6CSJ18 0.67 0.10C 0.03 #10 SD 0.177 8

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

0.33

UPLIFT/SHR FASTENER

#10 SD

PA

0.263

REQ.

8
STEEL STUD SEE NOTES 0.33 #10 SD 0.263 8
TRUSS CHORD SEE NOTES 1 0.39 #10 SD 0.263 8
HIP RAFTER SEE NOTES 0.39 #10 SD 0.263 8

CHORD WALL SEE NOTES 0.33 #10 SD 0.263 8

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.
6. SEE ENGINEERS REPORT FOR 'TRUSS TO SUPPORT' CONNECTION DESIGN.



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#1

#2

#3

#4

#5

1

4

2 3

5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-9.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 15 & 22
CONNECTIONS

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1

TRUSS CONNECTION 4
4

TRUSS CONNECTION 2
SCALE: 6" = 1'-0"

2
TRUSS CONNECTION 3

SCALE: 6" = 1'-0"
3

TRUSS CONNECTION 5
SCALE: 6" = 1'-0"

5

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"

SCALE: 6" = 1'-0"



2'
-0

 1
/2

"

1'
-1

0 
1/

2"

4'-8 1/4"

#3

#1

#2

#4

#5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-10.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 16 & 21

TRUSS 16 & 21
SCALE: 1-1/2" = 1'-0"

1

MAXIMUM DEFLECTIONS
VERTICAL 0.020 in (L/2875)
HORIZONTAL 0.002 in
TOP OVERHANG 0.023 in (L/500)
VERTICAL 0.012 in (L/4792) [DEAD LOAD ONLY]
VERTICAL 0.009 in (L/8214) [LIVE LOAD ONLY]

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.26 {0.23} -0.24[-0.56] 0.24 6.00
RIGHT 0.18 {0.18} -0.26[-0.55] 0.00 2.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 2 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 6.000 in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-358CSJ18
TOP CHORD 1-358CSJ18
WEB 1-358CSJ18

ACTUAL

Po

0.39C
0.08T
0.31T

Vo

0.09
0.00
0.00

Mo

1.89
2.28
0.93

ALLOWABLE

Pa

3.78
4.98
4.45

Va

1.25
1.25
0.91

Ma

4.83
4.79
27.75

RATIO

0.50
0.49
0.08

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)

CONNECTION

#1

SECTION

358CSJ18

LENGTH

4.44

AXIAL

0.39C

INT.

0.50

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 358CSJ18 5.25 0.08C 0.47 #10 SD 0.000 0
#3 358CSJ18 1.75 0.18T 0.09 #10 SD 0.347 8
#4 358CSJ18 3.25 0.39T 0.23 #10 SD 0.177 8
#5 6CSJ18 0.50 0.31C 0.20 #10 SD 0.177 8

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

0.24

UPLIFT/SHR FASTENER

#10 SD

PA

0.263

REQ.

8
STEEL STUD SEE NOTES 0.26 #10 SD 0.263 8
TRUSS CHORD SEE NOTES 1 0.28 #10 SD 0.263 8
HIP RAFTER SEE NOTES 0.26 #10 SD 0.263 8

CHORD WALL SEE NOTES 0.24 #10 SD 0.263 8

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.
6. SEE ENGINEERS REPORT FOR 'TRUSS TO SUPPORT' CONNECTION DESIGN.



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#1

#2

#3

#4

#5

1

4

2 3

5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-10.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 16 & 21
CONNECTIONS

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1

TRUSS CONNECTION 4
4

TRUSS CONNECTION 2
SCALE: 6" = 1'-0"

2
TRUSS CONNECTION 3

SCALE: 6" = 1'-0"
3

TRUSS CONNECTION 5
SCALE: 6" = 1'-0"

5

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"

SCALE: 6" = 1'-0"



1'
-4

 3
/4

"

1'
-2

 3
/4

"

2'-8 1/4"

#3

#1

#2

#4

#5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-11.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 17 & 20

TRUSS 17 & 20
SCALE: 1-1/2" = 1'-0"

1

MAXIMUM DEFLECTIONS
VERTICAL 0.008 in (L/4786)
HORIZONTAL 0.000 in
TOP OVERHANG 0.010 in (L/1200)
VERTICAL 0.004 in (L/9999) [DEAD LOAD ONLY]
VERTICAL 0.003 in (L/9999) [LIVE LOAD ONLY]

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.17 {0.13} -0.18 [-0.39] 0.16 6.00
RIGHT 0.11{0.11} -0.16 [-0.32] 0.00 2.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 2 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 6.000in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-358CSJ18
TOP CHORD 1-358CSJ18
WEB 1-358CSJ18

ACTUAL

Po

0.11T
0.00C
0.18T

Vo

0.17
0.09
0.00

Mo

1.18
0.33
0.11

ALLOWABLE

Pa

5.62
5.03
4.41

Va

1.23
1.23
0.97

Ma

4.69
4.69
27.67

RATIO

0.28
0.11
0.06

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)

CONNECTION

#1

SECTION

358CSJ18

LENGTH

2.67

AXIAL

0.11C

INT.

0.28

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 358CSJ18 3.17 0.00C 0.11 #10 SD 0.000 0
#3 358CSJ18 1.09 0.17T 0.04 #10 SD 0.347 8
#4 358CSJ18 1.42 0.17T 0.12 #10 SD 0.177 8
#5 6CSJ18 0.50 0.18C 0.13 #10 SD 0.177 8

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

0.18

UPLIFT/SHR FASTENER

#10 SD

PA

0.263

REQ.

8
STEEL STUD SEE NOTES 0.17 #10 SD 0.263 8
TRUSS CHORD SEE NOTES 1 0.16 #10 SD 0.263 8
HIP RAFTER SEE NOTES 0.16 #10 SD 0.263 8

CHORD WALL SEE NOTES 0.17 #10 SD 0.263 8

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.
6. SEE ENGINEERS REPORT FOR 'TRUSS TO SUPPORT' CONNECTION DESIGN.



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#1

#2

#3

#4

#5

1

4

2 3

5

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-11.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 17 & 20
CONNECTIONS

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1

TRUSS CONNECTION 4
4

TRUSS CONNECTION 2
SCALE: 6" = 1'-0"

2
TRUSS CONNECTION 3

SCALE: 6" = 1'-0"
3

TRUSS CONNECTION 5
SCALE: 6" = 1'-0"

5

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"

SCALE: 6" = 1'-0"



9"

7"

8 1/4"

#3
#1

#2

#3

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-12.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 18 & 19

TRUSS 18 & 19
SCALE: 1-1/2" = 1'-0"

1

MAXIMUM DEFLECTIONS
VERTICAL 0.000 in (L/9999)
HORIZONTAL 0.000n

SUPPORT REACTIONS DOWN UPLIFT HORIZONTAL BEARING
LEFT 0.07 {0.06} -0.10 [-0.19] 0.06 3.00
RIGHT 0.01 {0.01} -0.01 [-0.03] 0.00 3.00

*UPLIFT LOAD COMBINATION (TRUSS TO SUPPORT CONNECTION ONLY): 0.6 DEAD + 0.6 WIND
{  } DENOTES 'DEAD+LIVE ONLY'
[ ] DENOTES 'WIND ONLY' UPLIFT REACTION

DESIGN DATA

NUMBER OF TRUSS = 2 EACH
PLATE STYLE : OUT-OF-PLANE
EAVE HEIGHT : 12.00 ft (TOP OF WALL)
BEARING : 6.000 in
SPACING : 2.00 ft
DEAD LOAD : 10.00 PSF (TOP CHORD)
DEAD LOAD : 10.00 PSF (BOTTOM CHORD)
LIVE LOAD : 20.00 PSF (TOP CHORD)
LIVE LOAD : 0.00 PSF (BOTTOM CHORD)
SNOW LOAD : 0.00 PSF (GROUND) [Ct=1.00]
WIND LOAD : 35.69 PSF (DESIGN)
WIND SPEED : 139 MPH (EXPOSURE C)
OPEN CATEGORY : E
TOPOGRAPHY (Kz) : 1
BUILDING CATEGORY : (2) GENERAL
DELETE WIND LOAD : RIGHT END
SEISMIC COEFFICIENT: 0.0

PER AISI S100-2007

MEMBER SECTION

BOTTOM CHORD 1-358CSJ18
TOP CHORD 1-358CSJ18
WEB 1-358CSJ18

ACTUAL

Po

0.02
0.00T
0.01T

Vo

0.06
0.08
0.00

Mo

0.03
0.23
0.17

ALLOWABLE

Pa

5.03
5.71
5.18

Va

1.23
1.23
1.02

Ma

4.75
4.74
5.78

RATIO

0.05
0.08
0.08

TRUSS DESIGN CODE: AISI S214-07
ASCE 7-16: PASSED
DESIGN METHOD - (ASD)
COMPONENT WIND PRESSURE DESIGN (END)

CONNECTION

#1

SECTION

358CSJ18

LENGTH

0.67

AXIAL

0.02C

INT.

0.05

FASTENER

#10 SD

PA

0.000

REQ.

0
#2 358CSJ18 1.07 0.00C 0.08 #10 SD 0.000 0
#3 358CSJ18 0.58 0.10T 0.08 #10 SD 0.117 8
#4 6CSJ18 0.41 0.01T 0.00 #10 SD 0.177 8

CONNECTION

TRUSS CHORD

SIMPSON

SEE NOTES

EACH

1

LOAD

0.10

UPLIFT/SHR FASTENER

#10 SD

PA

0.263

REQ.

8
STEEL STUD SEE NOTES 0.10 #10 SD 0.263 8
TRUSS CHORD SEE NOTES 1 0.01 #10 SD 0.263 8
STEEL STUD SEE NOTES 0.01 #10 SD 0.263 8

GENERAL NOTES

1. TRUSSES REQUIRE LATERAL BRACING. SEE TRUSS LAYOUT AND DETAIL SHEETS.
2. NUMBER OF FASTENERS NOTED IN CHART INSTALLED ON EACH END OF WEB.
3. ALLOWABLE FASTENER VALUES BASED ON COLD-FORMED STEEL DESIGN FORMULAE.
4. (ws) DENOTES WEB STIFFENER REQUIRED AT SUPPORT.
5.  MEMBER DESIGN BASED ON SECTIONS IN UNITED_SSMA-7-8-2016 LIBRARY.
6. SEE ENGINEERS REPORT FOR 'TRUSS TO SUPPORT' CONNECTION DESIGN.



(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

(4) HEX HEAD
GRABBERS #10x3/4"

#3
#1

#2

#3

1 2

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-12.1

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TRUSS 18 & 19
CONNECTIONS

TRUSS CONNECTION 1
SCALE: 6" = 1'-0"

1
TRUSS CONNECTION 2

SCALE: 6" = 1'-0"
2

TRUSS CONNECTION KEY
SCALE: 1-1/2" = 1'-0"



NEW COLUMN

2'-0"
TYP. SPACING

EXISTING BUILDING

NEW COLUMN NEW COLUMN

2'-0"
TYP. SPACING

2'
-0

"
TY

P.
 S

PA
CI

NG

EXISTING COLUMN

EXISTING COLUMN

TR
US

S 
#7

TR
US

S 
#8

TR
US

S 
#1

7

TRUSS #20

TR
US

S 
#9 TRUSS #19

TR
US

S 
#1

8

TR
US

S 
#1

6

TR
US

S 
#1

0

TR
US

S 
#1

5

TR
US

S 
#1

1

TR
US

S 
#1

4

TR
US

S 
#1

2

TR
US

S 
#1

3

TRUSS #21

TRUSS #22

TRUSS #23

TRUSS #24

HIP1.0
HIP1.0

TRUSS #1

TRUSS #2

TRUSS #3

TRUSS #4

TRUSS #5

TRUSS #6

TRUSS #25

A

A

A

A

A

A

A

A

A

A

A

B

B

B

B

B

B

B

B

B

B

A

#12 TEK SCREWS (MIN.) @ 6" O.C.
MAX OVER INTERMEDIATE SUPPORT

WOOD PANEL 4'-0"x8'-0"
STAGGERED JOINT PATTERN

5/8" PLYWOOD CLIP

5/8" FIRE TREATED PLYWOOD

ROOF SUPPORT FRAMED

#12 TEK SCREWS (MIN.) @ 6" O.C. MAX
ROOF PERIMETER & 6" ELSEWHERE

ANCHOR MAY OCCUR AT TRUSS VERTICAL WEB

TRUSS BOTTOM CHORD (TRACK FOR
TWO ANCHOR LOCATIONS)

ATTACH TRUSS WITH 0.157Ø POWERS CSI
SPIRAL PAF (OR EQUAL) PER SCHEDULE. USE
AL362 AT EVERY TRUSS TO BEAM
CONNECTION AND USE MIN. (4) #12 SCREWS

STRUCTURAL STEEL SUPPORT BEAM, EMBED
PLATE OR OTHER STEEL FRAMING (BY OTHERS)

ANCHOR MAY OCCUR AT
TRUSS VERTICAL WEB
ANOTHER LOCATION FOR
TWO ANCHOR CONDITION

TRUSS BOTTOM CHORD

ANCHOR MAY OCCUR AT TRUSS VERTICAL WEB

TRUSS BOTTOM CHORD (TRACK FOR
TWO ANCHOR LOCATIONS)

ATTACH TRUSS WITH 0.157Ø POWERS CSI
SPIRAL PAF (OR EQUAL) PER SCHEDULE. USE
AL362 AT EVERY TRUSS TO BEAM
CONNECTION AND USE MIN. (4) #12 SCREWS

STRUCTURAL STEEL ANGLE

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-13.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

PARTIAL ROOF
TRUSS PLAN

PARTIAL ROOF TRUSS PLAN
SCALE: 1/2" = 1'-0"

1

PLYWOOD ATTACHMENT (TYP.)
SCALE: 3/4" = 1'-0"

2

STEEL TO TRUSS CLIP CONNECTION
SCALE: N.T.S.

3

PLAN VIEW

ANGLETO TRUSS CLIP CONNECTION
SCALE: N.T.S.

4



3-5/8 18 GA. STEEL STUDS @ 16" O.C.
CONNECT TO TRACK HANGING FROM
TRUSSES (TYP.)

STEEL STIFFENER CLIP. AL362. GC TO FILL ALL
PREMANUFACTURED HOLES WITH #12 HEX HEAD
GRABBERS OR 3/4"POWDER ACTUATED PIN

AX.X
X

3-5/8 18 ga STL STUD BEAM

6" 18 ga STL. STUD BOX BEAM

CONTINUOUS 18 ga. ANGLE
TO FULL HEIGHT OF PEAK

3-5/8 18 ga STL STUD @ 16" O.C.

AX.X
X

3-5/8 18 GA. STEEL STUD

6"18 GA. STEEL STUD BOX BEAM

CONTINUOUS 18 ga. ANGLE TO
FULL HEIGHT OF PEAK. PLACE
SCREWS @ EVERY 6"

(3) HEX HEAD GRABBERS
#10x3/4"

6"

STEEL STIFFENER CLIP. AL362. GC TO
FILL ALL REMANUFACTURED HOLES WITH
#10 HEX HEAD GRABBERS OR
3/4"POWDER ACTUATED PIN

3-5/8 18 ga STL TRUSS

18 ga STL
BENT PLATE

(6) HEX HEAD
GRABBERS #10x3/4"

18 ga STL
BENT PLATE

(6) HEX HEAD
GRABBERS #10x3/4"

STEEL STIFFENER CLIP. AL362.
GC TO FILL ALL
PREMANUFACTURED HOLES WITH
#10 HEX HEAD GRABBERS OR
3/4"POWDER ACTUATED PIN

2-1/2" 18 GA. STL STUD (2) 6" 18 ga STL. STUD
BOX BEAM

3-5/8 18 GA. STL STUD
@ 16" O.C.

HSS 8x6x3/8

STL. COLUMN

3/4" POWDER ACTUATED
FASTENER @ 24" SPACING

3/4" POWDER ACTUATED
FASTENER (5 TYP.)

18 ga. FLAT STRAP

HEX HEAD GRABBERS
#10x3/4"

HEX HEAD GRABBERS
#10x3/4"

3-5/8 18 GA. STL STUD
@ 16" O.C.

3-5/8 18 GA. STL STUD
BLOCKING

3/4" POWDER ACTUATED
FASTENER AT EA.
BLOCKING (2 TYP.)

3-5/8 18 GA. STL STUD

STEEL STIFFENER CLIP.
AL362

HEX HEAD GRABBERS
#10x3/4"

HEX HEAD GRABBERS
#10x3/4" (4 TYP.)

SIMPSON STRONG-TIE
HURRICANE STRAP - H6
 EA. SIDE OF TRUSS

STEEL STIFFENER CLIP @ EA. SIDE
OF HSS BEAM. AL362. GC TO FILL
ALL REMANUFACTURED HOLES
WITH #12 SCREWS (ACCORDING
TO MANUFACTURERS
REQUIRMEENTS) OR 3/4"POWDER
ACTUATED PIN

HEX HEAD GRABBERS
#10x3/4" (MIN. 6 SCREWS)

3/16"
TYP.

EX. STL COLUMN

NEW ∠7"x4"x3/8" ANGLE TO SPAN
FROM STEEL COL. TO STEEL COL. TO

SUPPORT LOADS FROM  HIP TRUSSES

NEW HIP TRUSS
CONTINUOUS 18 ga. ∠ TO FULL
HEIGHT OF PEAK. PLACE SCREWS
@ EVERY 6"

3/4" POWDER ACTUATED
FASTENER @ 6" SPACING

3-5/8 18 GA. STL STUD
@ 16" O.C.

STL. COLUMN

HEX HEAD GRABBERS
#10x3/4"

(4) #12 SCREWS TO
SECURE FLAT STRAP TO
KNEE WALL

3-5/8 18 GA. STL STUD
@ 16" O.C.

3-5/8 18 GA. STL STUD
BLOCKING

3-5/8 18 GA. STL STUD

STEEL STIFFENER CLIP EA SIDE OF
TRUSS. AL362.GC TO FILL ALL
REMANUFACTURED HOLES WITH #12
SCREWS (ACCORDING TO
MANUFACTURERS REQUIREMENTS)
OR 3/4"POWDER ACTUATED PIN

HEX HEAD GRABBERS
#10x3/4"

HEX HEAD GRABBERS
#10x3/4" (4 TYP.)

SIMPSON STRONG-TIE
HURRICANE STRAP - H6
 EA. SIDE OF TRUSS

HEX HEAD GRABBERS
#10x3/4" (MIN. 6 SCREWS)

3/4" POWDER ACTUATED
FASTENER (4 TYP.)

SIMPSON STRONG TIE- MSTI60 TO GO OVER
TO OTHER SIDE OF COLUMN. (2) TIES PER
SIDE OF COL. FOR A TOTAL OF (4) TIES PER
COL. GC TO USE MIN. (4) 3/4" POWDER
ACTUATED PINS INTO STEEL COL. &
FOLLOW MANUFACTURERS REQUIREMENTS
FOR FASTENERS FOR KNEE WALL
CONNECTION

©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-14.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

TYP. ROOF ASSEMBLY
CONNECTION DETAILS

TRUSS TO WALL CONNECTION
SCALE: 3" = 1'-0"

1
TRUSS TO WALL CONNECTION

SCALE: 3" = 1'-0"
2

HIP BEAM CONNECTION - PLAN VIEW
SCALE: 3" = 1'-0"

7
TRUSS CONNECTION - PLAN VIEW

SCALE: 3" = 1'-0"
7

TRUSS TO GIRDER TYP. CONNECTION
SCALE: 3" = 1'-0"

3

HIP TRUSS TO TRUSS CONNECTION - TYPE 'A'
SCALE: 3" = 1'-0"

5
HIP TRUSS TO TRUSS CONNECTION - TYPE 'B'
SCALE: 3" = 1'-0"

6

ROOF TRUSS HOLD-DOWN @ ARCADE
SCALE: 3" = 1'-0"

8

HIP TRUSS TO WALL ANGLE CONNECTION
SCALE: 1-1/2" = 1'-0"

4

ROOF TRUSS HOLD-DOWN @ COL.
SCALE: 3" = 1'-0"

8



©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-15.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

SPECIFICATIONS



©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-16.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

SPECIFICATIONS



©2023

2023.03.30
PROJECT:

REVISION DATE

NOTES:

SCALE: AS NOTED

CHECKED BY: PJ
DRAWN BY: JM

DATE:
PROJECT NO.: 23-0004

03/30/2023

130 RUBY RED PLACE FC,
WINTER GARDEN, FL 34787

SHOP DWGS FOR
EXTERIOR ARCADE

1900 MARKET STREET
PHILADELPHIA, PA 19103

SD-17.0

PROFESSIONAL ENGINEER SEAL
STATE OF  FLORIDA

GENERAL REV. 5/3/2023

CALCULATIONS


	Sheets and Views
	23-0004_TRUSSES-SD-0.0
	23-0004_TRUSSES-SD-0.1
	23-0004_TRUSSES-SD-1.0
	23-0004_TRUSSES-SD-1.1
	23-0004_TRUSSES-SD-2.0
	23-0004_TRUSSES-SD-2.1
	23-0004_TRUSSES-SD-3.0
	23-0004_TRUSSES-SD-3.1
	23-0004_TRUSSES-SD-4.0
	23-0004_TRUSSES-SD-4.1
	23-0004_TRUSSES-SD-5.0
	23-0004_TRUSSES-SD-5.1
	23-0004_TRUSSES-SD-6.0
	23-0004_TRUSSES-SD-6.1
	23-0004_TRUSSES-SD-7.0
	23-0004_TRUSSES-SD-7.1
	23-0004_TRUSSES-SD-8.0
	23-0004_TRUSSES-SD-8.1
	23-0004_TRUSSES-SD-9.0
	23-0004_TRUSSES-SD-9.1
	23-0004_TRUSSES-SD-10.0
	23-0004_TRUSSES-SD-10.1
	23-0004_TRUSSES-SD-11.0
	23-0004_TRUSSES-SD-11.1
	23-0004_TRUSSES-SD-12.0
	23-0004_TRUSSES-SD-12.1
	23-0004_TRUSSES-SD-13.0
	23-0004_TRUSSES-SD-14.0
	23-0004_TRUSSES-SD-15.0
	23-0004_TRUSSES-SD-16.0
	23-0004_TRUSSES-SD-17.0


